

1. (1) $\frac{1}{(3k-2)(3k+1)} = \frac{1}{3} \left(\frac{1}{3k-2} - \frac{1}{3k+1} \right)$ を利用して部分和を求める

$$\begin{aligned} S_n &= \frac{1}{1 \cdot 4} + \frac{1}{4 \cdot 7} + \frac{1}{7 \cdot 10} + \dots + \frac{1}{(3n-2)(3n+1)} \\ &= \frac{1}{3} \left(1 - \frac{1}{4} \right) + \frac{1}{3} \left(\frac{1}{4} - \frac{1}{7} \right) + \dots + \frac{1}{3} \left(\frac{1}{3n-2} - \frac{1}{3n+1} \right) \\ &= \frac{1}{3} \left(1 - \frac{1}{3n+1} \right) \quad \therefore \lim_{n \rightarrow \infty} S_n = \underline{\underline{\frac{1}{3}}} \end{aligned}$$

(2) $\frac{1}{\sqrt{3k-2} + \sqrt{3k+1}} = \frac{1}{3} (\sqrt{3k+1} - \sqrt{3k-2})$ を利用する

$$\begin{aligned} S_n &= \frac{1}{1+2} + \frac{1}{2+\sqrt{7}} + \frac{1}{\sqrt{7}+\sqrt{10}} + \dots + \frac{1}{\sqrt{3n-2} + \sqrt{3n+1}} \\ &= \frac{1}{3} (2-1) + \frac{1}{3} (\sqrt{7}-2) + \frac{1}{3} (\sqrt{10}-\sqrt{7}) + \dots + \frac{1}{3} (\sqrt{3n+1} - \sqrt{3n-2}) \\ &= \frac{1}{3} (\sqrt{3n+1} - 1) \quad \therefore \lim_{n \rightarrow \infty} S_n = \underline{\underline{\infty}} \end{aligned}$$

(3) $\frac{2}{1+2+3+\dots+n} = \frac{2}{\frac{1}{2}n(n+1)} = \frac{4}{n(n+1)} = 4 \left(\frac{1}{n} - \frac{1}{n+1} \right)$ より

$$\begin{aligned} S_n &= 2 + \frac{2}{1+2} + \frac{2}{1+2+3} + \dots + \frac{2}{1+2+3+\dots+n} \\ &= 4 \left(1 - \frac{1}{2} \right) + 4 \left(\frac{1}{2} - \frac{1}{3} \right) + \dots + 4 \left(\frac{1}{n} - \frac{1}{n+1} \right) \\ &= 4 \left(1 - \frac{1}{n+1} \right) \quad \therefore \lim_{n \rightarrow \infty} S_n = \underline{\underline{4}} \end{aligned}$$

2. (1) $\sum_{k=1}^{\infty} 5 \left(\frac{\sqrt{3}}{2} \right)^{n-1}$

$$= \frac{5}{1 - \frac{\sqrt{3}}{2}}$$

$$= \frac{10}{2 - \sqrt{3}}$$

$$= \underline{\underline{10(2 + \sqrt{3})}}$$

(2) $1 - \frac{3}{4} + \frac{9}{16} - \frac{27}{64} + \dots$

$$= \sum_{k=1}^{\infty} \left(-\frac{3}{4} \right)^{n-1}$$

$$= \frac{1}{1 - \left(-\frac{3}{4} \right)}$$

$$= \frac{1}{1 + \frac{3}{4}} = \frac{1}{\frac{7}{4}} = \underline{\underline{\frac{4}{7}}}$$

